AR =ML S Ol XK
HE: R AMMESH(AY - SADD/0H XL XKL
SRl ATHMOILIX DY 2 23 CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Off L4 XI KF& 11,784,837 9,554,530 2,230,307
= 3,333,930
Xl 160,000
p] 3,524,000
= 4,766,907
IR AMHSH (ALY - SADS/0UEKL X)) 11,692,656 9,465, 141 2,227,515
= 3,333,930
Xl 160,000
b] 3,524,000
= 4,674,726
AMTHAMAHUX e L 23 7,215,778 4,672,400 2,543,378
2 994,000
Xl 160,000
Dl 3,524,000
o 2,537,778
XA =& 10,000 60,000 A 50,000
202 044 10,000 10,000 0
01 2L Y| 10,000 10,000 0
ONUHXIZZH HARFEX 10,000
NUXESY e - &8 =8 (21) 100,000 100,000 0
2 50,000
o 50,000
201 gEt24y| 20,000 20,000 0
= 10,000
= 10,000
01 AP 22| H| 20,000 20,000 0
oOluHXIZESY E8 10,000
2 5,000
= 5,000
OXENHAEY SEHBSR2A A 6,000
= 3,000
= 3,000
OFAN S22 U XA 4,000
2 2,000
= 2,000
202 04d| 20,000 20,000 0
2 10,000
& 10,000
01 2L Hl 10,000 10,000 0
OXDoU XA =& XA 10,000
= 5,000
= 5,000
03 2220 10,000 10,000 0
OHNUXNEEZ22S HAEEX HS 10,000
= 5,000
& 5,000
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303 L& = 20,000 20,000 0
2 10,000
S 10,000
01 2= 20,000 20,000 0
OUUXIANY A2 X4 20,000
= 10,000
S 10,000
307 212t0l & 40,000 40,000 0
=2 20,000
& 20,000
04 QIEHAAIE B = 40,000 40,000 0
OUUXNZSY s - 82 HAXHA 40,000
2 20,000
S 20,000
HlHA Zefel & A 3,000 3,000 0
201 LBt2 S 3,000 3,000 0
03 A2 EHI 3,000 3,000 0
ONE HHXZE2 & A 3,000
AITHAO A X Al 2tel 378,978 539,800 A 160,822
201 2er= 278,978 209,800 69,178
01 At 22l bl 54,400 61,400 A7,000
OSHEIH 2 40,000
OSHE I ANL2cS g S 14,400
02 S3=9Hl 224,578 148,400 76,178
OZHLILI 23R 65,000
OS=EHI I FRAE=> 151,178
OSHEIHI N2 s U FF/H 8,400
202 o4l 10,000 10,000 0
01 SLHOHI 10,000 10,000 0
QAR d2=a 10,000
206 M =4l 40,000 20,000 20,000
01 W2l 40,000 20,000 20,000
OSHEHI| mAACIE 225 F¢ 40,000
401 A& HI L 2Ol 50,000 300,000 250,000
01 A& dl 50,000 300,000 250,000
O3HLIHI Al&2e 50,000
ATHAEM UK & A2 22| =& 96,800 96,800 0
201 2ot 2 Y| 76,800 76,800 0
01 AtR 2t 2l | 44,000 44,000 0
OAMMHHXMAIZ 24 44,000

- 356 -




AR =M S Ol XK
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CHel: AITHMOIHX e & 23 (=& J)
R.RN-ZE-E(HH) - HRAY - BES Ol &k o il Hl D = 2t
02 3322l 32,800 32,800 0
OLUMMUHUHXIEAZ 23 32,800
401 Al BIZ 201 8] 20,000 20,000 0
01 Al& bl 20,000 20,000 0
OMTHMUHHXIMAIZ AlE S22 20,000
AMTAMHHX XGRS (=21) 1,251,000 650,000 601,000
| 1,251,000
403 Ut S E X201 H 1,251,000 650,000 601,000
| 1,251,000
01 XXM A2 £ 1,251,000 650,000 601,000
OWNTHAH X X< X& 1,251,000
| 1,251,000
AEHHX E2XNA(=22) 944,000 844,000 100,000
= 944,000
403 AXISH M S X201 944,000 844,000 100,000
= 944,000
01 XXM A2E = 944,000 844,000 100,000
OXNGUHUHX HBA(ANEEX) 684,000
2 684,000
O35 LEDZZE S Al 260,000
= 260,000
FANE MHEGs S (=21) 1,937,000 1,165,800 771,200
| 1,642,000
== 295,000
401 Al Bl & 28I 400,000 0 400,000
J| 280,000
< 120,000
01 Al &t 397,500 0 397,500
OAMBI=XA4A LED WH SAt 397,500
| 278,250
< 119,250
03 AIE 2 0H bl 2,500 0 2,500
OAMIISXAIE LED X SAt 204l 2,500
| 1,750
< 750
403 XXM S X201 1,537,000 1,165,800 371,200
J| 1,362,000
< 175,000
01 XXM A=2E = 1,537,000 1,165,800 371,200
OFANE MASE & 1,537,000
| 1,362,000
= 175,000
HUXIXESY sMIetAlEd XM (20EEXE) 753,000 753,000 0
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S AMMHUEX Y & 232 (&2 &)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
403 XX S S X201 A 753,000 753,000 0
01 HXHNMAHEE = 753,000 753,000 0
OWUXIXEE OIS sMHIBIAIE =4 753,000
By 22 U=2H 0188 223 (22 EXH) 120,000 60,000 60,000
403 XX S M S K201 A 120,000 60,000 60,000
01 HXHAMAHEBE = 120,000 60,000 60,000
OEHZE &2 (=& 4d B2 120,000
Hslgl HHX 2X0ts 24(=21) 160,000 400,000 A 240,000
Xl 160,000
403 XX S M S K201 A 160,000 400,000 N 240,000
Xl 160,000
01 XIS AE2E X 160,000 400,000 A 240,000
om gy Xl sX0t2 =4 160,000
Xl 160,000
JdeloidX g2 s2Ald D320 EXE) 200,000 0 200,000
403 XtXISHH S K201 200,000 0 200,000
IPGNE PU=EES 200,000 0 200,000
Ol Xl &8 s8tAE DE3 200,000
BN ZUAMAEH EAXNAY(=2D) 640,000 0 640,000
Dl 320,000
< 320,000
401 Al HI YL 2 0HHI 640,000 0 640,000
Dl 320,000
[ 320,000
01 A& HI 625,000 0 625,000
OBt LY AX 625,000
J| 312,500
o= 312,500
02 22l 15,000 0 15,000
OEfYFZEM ALY &I 15,000
Jl 7,500
== 7,500
KNGAAE XA (2D) 622,000 0 622,000
Jl 311,000
== 311,000
401 Al HI YL 2 0HHI 622,000 0 622,000
Jl 311,000
= 311,000
01 A& HI 619,000 0 619,000
OXNZAAE AX 619,000
J| 309,500
& 309,500
03 A& E2HH]| 3,000 0 3,000
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FH: U MHSH(AY - SAIS/0MEHRLR2HE)
el AWK W & 23 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
OXNZAAE AX 3,000
J| 1,500
< 1,500
Ol 4 X XH& 22 ,200,253 3,038,641 161,612
= 1,372,680
=) 1,827,573
HIIAIE e K& 48,222 48,222 0
403 MHtXISHHE =0l & 48,222 48,222 0
01 AXISHHA=2E = 48,222 48,222 0
OMASE ==HIIANE KA 48,222
MBS JIAAE HE(=1) 1,475,631 1,350,032 125,599
= 1,372,680
< 102,951
403 XIS E X201 & ,475,631 1,350,032 125,599
= ,372,680
< 102,951
01 XXM A2E = , 475,631 1,350,032 125,599
OAMBIE JIAAME A , 475,631
= ,372,680
= 102,951
SHE IS AMY X (2HEEXA) 70,650 107,387 N 36,737
403 MHXSHHSA=0l& 70,650 107,387 A 36,737
01 HIXESHMA2E X 70,650 107,387 N 36,737
Os0HE HIISSAY =& 70,650
SANIA BSSHIE MHEEA FA 23,000 23,000 0
207 O] 23,000 23,000 0
01 289 23,000 23,000 0
OZAIIA BSHIE &HE E9Y 23,000
StAMEIRIS E A =& ,500,000 1,500,000 0
501 A3 ,500,000 1,500,000 0
01 28X 2 ,500,000 1,500,000 0
OGtAHME RIS Xt ,500,000
SEX WX =5 - 22l =& 10,000 10,000 0
202 04 Hl 10,000 10,000 0
01 = LH 4 Hi 10,000 10,000 0
OFE8% oiuXae g2=A 10,000
HASE 18 I3 JIAANE(E0IHE) B3 =8 48,750 0 48,750
403 X SHHSA=0l& 48,750 0 48,750
01 HXHMA=E X 48,750 0 48,750
OMASE DEXNIF EOIH=E K& 48,750
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DA = AR (NE PAPN SN
DUUX ML (MY - SAIS /UL TR
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
dEANE XA 24,000 0 24,000
403 UHXISHHSA=0l& 24,000 0 24,000
01 XM= E L 24,000 0 24,000
ONMsIIE S8 dSAME X dI|otd &8 24,000
HFEUUX 23018 25 1,276,625 1,754,100 NATT 475
2 967,250
< 309,375
HAIATISIH(NGY) 2=(=2) 782,625 802, 100 N 19,475
2 571,250
< 211,375
403 XA SA=0l& 782,625 802,100 N 19,475
=2 571,250
= 211,375
01 HIXSHMA2E X 782,625 802,100 N 19,475
OQHEAINATSI E= 782,625
= 571,250
= 211,375
ZEZHO0IQUER S HZ235t 10,000 10,000 0
202 044l 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
OHtoILnE & ASBNSI E5 d2FH 10,000
HIIX=sA 22 ¥ SHMmet 2H(31) 484,000 494,000 A 10,000
= 396,000
< 88,000
403 A X EH S 20l A 484,000 494,000 A 10,000
= 396,000
< 88,000
01 X EHHMA=LE L 484,000 494,000 A 10,000
O&IIXESA B85 & sdelZet 25 484,000
= 396,000
< 88,000
AL 2 (0l XX (O1EHODIEL) 92,181 89,389 2,792
e 2l 52,981 50,189 2,792
ATHEUHHXEAIZ 2 52,981 50,189 2,792
101 @124l 52,981 50,189 2,792
03 2N AHAAN22NHE =+ 52,981 50,189 2,792
OMMMUUHXIEAI2 HECR0] Q24| 52,981
OJdles 46,7603 «261 «2H 24,409
Oa0= 46,760 «2612 /128 43| x2H 8,137
OxFs=+¥ 46,7603 «52 «2H 4,864
Ogrest=rY 65,0883 «152 »2H 1,953
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8,136% «1.5%20Al 2t«12& »2H 5,858
Og&x 300,000& 23| x2&H 1,200
Oz 4| 130,000& 123 »2H 3,120
Oun sl 60,000 «12& x2H 1,440
Onl=H| 500,000 2 »2H 2,000
|2 2Z 4l 39,200 39,200
2A2Y JI23tl 39,200 39,200
2ot2 S| 26,000 26,000
01 At 2teltl 26,000 26,000
oORM29g clbl 26,000
04l 9,000 9,000
01 =W OIHI 9,000 9,000
ORN=2Z =U0bl 9,000
203 ¥R =&l 4,200 4,200
04 EASEYRFEH| 4,200 4,200
©30¢! Ol ot 350,000& 12 4,200
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